034-402-4018
O34 MOITroRSPORTI

B5/B6/B7/C5 Endlinks

ITEM NO. Part QTY.
402-4017, Endlink, B5 Front Swaybar

402-7008, Spacer, Endlink, BS Front Swaybar
H01-0014, Bolt, M10x1,5x65 HEX 10,9
HO01-0041, Bolt, M10x1,5x55mm - HEX 10.9 *
HO04-0004, Washer, Flat M10

HO03-5008, Nut, M10x1,5, Locking, Flange
H01-0049, Bolt, M10x1,5x50mm - HEX 10.9 **

*M10x55: B5 Application
**M10x50: B6/B7 Application

OO R_WI N —
N[NNI OOIN

If you feel that you can not properly install this product, we highly recommend you take the vehicle to a qualified and
experienced automotive technician.

Contact 034Motorsport 9:00 AM - 6:00 PM PST weekdays for questions regarding fit or instructions that are not clear to
you. Your 034Motorsport part was carefully inspected and packaged. Check that no parts are missing, or were damaged
during shipping. If any parts are missing, contact 034Motorsport.

Use of product may not be legal on public roads. Please check with local authorities prior to installation. Use of product
may void warranty.

42968 Osgood Road Fremont, CA 94539
Sales / Customer Service / Technical Support: 877-591-9571
© 2005 - Present. 034Motorsport. All Rights Reserved



	Sheet1
	Drawing View1
	Drawing View2


